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Test Paper

Part | ~ Listening Comprehension (15 minutes)

Directions: This part is to test your listening ability. It consists of 3 sections.

Section A
Directions : This section is to test your ability to give proper answers to questions., Thereare 5
recorded questions in it. A fter each question, thereis a pause. The questions will
be spoken two times. When you hear a question, you should decide on the correct
answer from the 4 choices marked A), B), C) and D) given in your test paper.
Then you should mark the corresponding letter on the Answer Sheet with a single
line through the center.
Example: You will hear : Mr. Smith is not in. Could you please give him a message?
You will read : A) T'm not sure,
B) Youre right.
C) Yes, certainly.
D) Thats interesting.
From the question we learn that the speaker is asking the listener to leave a mes-
sage. Therefore, C. Yes, certainly is the correct answer. You should mark C on
the Answer Sheet. Now the test will begin.
1. A) How bright he is! .
B) Kelly is the tallest person in the computer programming class.
C) A good haircut would make Kelly look better.

D) Because of an injury, Kelly has to be absent from the computer class.

2. A) At home. B) The blue one.
C) At 6:30 D) $500. |
3. A) Never mind. - B) No, you dont need to.
C) . Youd better finish it today. - D) You are supposed to meet them.

4. A) Someone will help you carry it through the doorway.
B) I'm sure you can find someone to open the door for you.
C) 1 didn't expect that.

D) There's someone waiting at the door to be let in.

5. A) Last week. B) No, I didnt.
C) I ironed my trousers. D) In the cabinet.
‘Section B

Directions: This section is to test your ability to understand short dialogues. Thereare 5 re-

corded questions in it. A fter each dialogue, thereis a recorded question. Both the



dialogues and questions will be spoken two times. When you hear a guestion, you
should decide on the correct answer from the 4 choices marked A), B), C) and
D) given in your test paper. Then you should mark the corresponding letter on

the Answer Sheet with a single line through the center.

6. A) Looking for a timetable B) Window— shopping
C) Reserving a table D) Buying some furniture
7. A) At a post office B) At a train station
C) At an airport D) At a restaurant
8. A) 11.00 B) 8:30
C) 8:13 D) 3:30
9. A) To a play B) To the beach
C) To a restaurant D) To a movie
10.A) In a park B) In a restaurant
C) In a classroom D) In a post office
Section C

Directions: In this section you will hear a recorded short passage. The passage is printed in
the test paper, but with some words or phrases missing. The passage will be read
three times. During the second reading, you are required to put the missing
words or phrases on the Answer Sheet in order of the numbered blanks according
to what you hear. Thethird reading is for you to check your writing . Now the
passage will begin.

In the States women often 11 about their husbands or boyfriends spending too much
time watching sports on TV. Especially 12 , a lot of American men sit down in front of
the TV with a bunch of popcorn and beer, and forget about everything except the football
game theyre watching, for hours and hours.

These wives call themselves “football widows”. A widow, of course, is a woman whose

13 has died, and I guess that's how these women feel because they never see their hus-

bands once 14 starts.
The other day I heard this expression used in a new way: a 15 ” This is a woman

whose husband is married to his computer rather than to her.

Part [ Vocabulary & Structure (15 minutes)
Directions: This part is to test your ability to use words and phrases correctly to construct

meaning ful and grammatically correct sentences. It consists of 2 sections.

Section A
Directions: There are 10 incomplete statements here. You are required to complete each state-

ment by choosing the appropriate answer from the 4 choices marked A), B), C)

-3.



and D). you should mark the corresponding letter on the Answer Sheet with a

single line through the center.

16. They were all that his plan was realistic and so they decided to accept his pro-
posal.
A) believed B) convinced
C) realized ‘ D) supposed
17. Hardly the railway station the train started.

A) 1 had reached; when
B) had I reached; when
C) I had reached; than
D) had I reached; than
18. If the engineer were here, the problem
A) will solve B) will be solved

C) could solve D) could be solved
19. The man over there is our principle.

A) no other but B) no other than

C) no one than D) none other than

20. I got a fever, two degrees above

A) average B) regular

C) ordinary D) normal
21. It worried her a bit her hair was turning gray.

A) which B) if C) that D) for
22. Not until I began to work how much time I had wasted.

A) have I realized B) did I realize

C) I have realized D) I realized
23. Look, the trees are fallen. There a strong wind.

A) must be B) could be

» C) should have been D) must have been

24. That is the very man house was burned down last week.

A) which B) his C) of whom D) whose
25. His grandmother brought him up, because his parents when he was only one

year old.

A) passed off B) passed away

C) passed out : D) passed over
Section B

Directions: There are also 10 incomplete statements here. You should fill in each bland with
the proper form of the word given in the brackets. Write the word or words in

the corresponding space on the Answer Sheet.



26. There is no (relate) between those two political events.

27. It now occurs to me that John's the man (report) the world news on

television.

28. The dying patient soon recovered under the doctors careful (treat) - °

29. When the power station was under (construct) , , thousands of people

took part in the work. i

30. (work) as a teacher of English for over twenty years, he has got plen-

ty of experience in teaching English,

31. Don't (understand) what I'm trying to say.

32. He advised (go) hiking on vacation.

33. He was told that the stranger (wait). for him for 2 hours.

34. Jack must (go) home, we cant find him anywhere in the college.

35. Nobody is allowed (smoke) here.

Part [l Reading Comprehension (40 minutes)

Directions: This part is to test your reading ability. There are 5 tasks for you to ful fill.
You should read the reading materials care fully and do the tasks as you are in-

structed .

Task 1

Directions: A fter reading the following passage, you will find 5 questions or unfinished
statements , numbered 36 through 40. For each question or statement there are 4
choices marked A), B), C) and D). You should make the correct choice and mark
the corresponding letter on the Answer Sheet with a single line through the cen-
ter.

The history of Lake Michigan is a history of ships. The first sailing ship was LaSalle’s
“Griffin”. It was made of wood from the nearby forests. The ship left Detroit in 1670. It
carried furs. Sadly, the ship didn’t reach its.goal. It vanished without a trace. The Indians
believed that ship fell through a crack in the lake.

Many ships have vanished without a trace. Legends tell of underground channels that
join one Great Lake to another. Other tales tell of waterspouts that lift ships out of Lake
Michigan and put them down in Lake Huron. ,

A new ship, the whaleback, appeared on the lakes in 1889. Her sides looked like the
top half of a whale. Waves easily rolled over it. On her first voyage though Lake Michigan,
the whaleback “Charles Wetmore” carried a load of wheat. When the hatches were lifted af-
ter a stormy trip, everyone was amazed. The ship had been so steady that the footprirt of
the cargo trimmer could still be seen on top of the grain.

By the end of the 19th century things changed. A thousand schooners plowed the lake at

16 knots. But schooners did not last. They were replaced by steamers. The changeover from

.50



sail to steam was fought by the old—timers. At first, steamers had to have running lights.
Schooners did not. Sail ships were given the right of way over steamships. Despite the effort
to keep the schooners, they were doomed. Just as the horse and buggy gave way to the auto-
mobile, so the schooner gave way to steamships. At last the proud schooners became to
more than barges, pulled by tugs.

The early steamships that saild on Lake Michigan were called “teakettles on a raft. ” The
Indians thought they were pulled by fish. “Independence” was the first Lake Michigan ship
to go through the city of Sault St. Marie. Before the canal locks were built, the ship was
pulled on greased ways through icy streets. It took a team of horses to move the ship four
feet a day.

One early steamer, the “Cayuga,” had a steel hull. One night she hit the wooden boat
“Hurd” and sank. Flour from the sunken “Cayuga” washed ashore the next day in chunks of
dough. The dough began to bake on the hot sand.

Is it any wonder that stories like these are called the Legends of Lake Michigan?

36. The “Charles Wetmore” carried a load of
A) flour B) furs C) corn D) wheat
37. The best title for this article is
A) Great Indian Legends
B) A Tale of A Ship
C) History of Lake Michigan
D) Steamers on the Move
38. This article hints that
A) early steamships traveled slowly
B) many ships have disappeared on Lake Michigan
C) Indians often attacked the whalebacks
D) Weather always changed on Lake Michigan
39. The whaleback ships handled well during a .
A) drought ’ B)’strong wind
C) flood D) storm
40. Schooners appeared on Lake Michigan
A) after the steamers
B) before the steamers
C) before the whalebacks
D) after “teakettles on a raft”

Task 2
Directions: This task is the same as Task 1. The 5 questions or unfinished statements are
numbered 41 through 45.

Ask three people to look out the same window at a busy street corner and tell you what

060



they see. Chances are that you will receive 3 different answers. Each person sees the same
scene but each feels something different about it.

Perceiving goes on in our minds. Of the 3 people who look out of the window, one may
say that he sees a policeman punishing a driver. Another may say that he sees rush traffic
jam at the crossing. The third may tell you that he sees a woman trying to cross the street
with 4 children. For perceiving is the mind's meaning of what the senses—in this condition
our eyes—tell us.

Many scientists today are working to try to determine just how a person experiences or
feels the world around him. Using a scientific way, these scientists set up experiments in
which they can control all of the factors. By measuring and charting the results of many ex-
periments, they are trying to find out what makes people feel totally different things about
the same scene.

41. Seeing and feeling are
A) the same action
B) 2 separate actions
C) 2 actions carried on entirely by the eyes
D) several actions that take place at different times
42. Perceiving is an action that takes place
A) in out eyes
B) in every person’s mind
C) only when we think very hard about something
D) only under the direction of a scientist
43. People feel different things about the same scene because
A) they are different things
B) they can't agree on things
C) some have better eyesight
D) none of them
44, Scientist study perceiving by
A) setting up many experiments
B) looking out of windows
C) asking each other what they see
D) studying peoples eyes
45. The best title for the passage is
A) How We See
B) How to Become An Experimental Scientist
C) What Scientists Feel
D) Learning About Our Mind Through Science



Task 3

Directions: The following is an advertisement. A fter reading it, you are required to com~
plete the outline below it (No. 46 through No.50). You should write your an-
swers in several words on the Answer Sheet correspondingly.

- When you use.a. public telephone in a foreign country, be sure to read the directions
carefully before dialing the number. In many foreign countries, as in China, a special num-
ber is assigned to each region of the country, which is called an “area code”. If you know the
area code and the phone number, it is usually easier and cheaper to dial the number yourself.
In some foreign countries, such as in the UK and the USA, you can make reverse charge or
collect calls with the help of an operator, and if the person you are calling accepts you call,
he will pay for the call. Also phone companies in both the UK and the USA offer a credit card
service, commonly called a phone card, to their customers. You get a card with an account
number and a PIN number ( personal identification number), which you can use for any
phone. You pay for your calls after you have made them when the bill is sent.to your home.
1. In many countries, the telephone number for each region hasa 46 .

. If you wish to call a phone both easily and inexpensively, you have to 47

2
3. That the person 48 is a reverse charge call.
4. A phone card is actually a 49

5

. When 50 you should pay for your calls.

Task 4
Directions: The following is terms for capital. After reading it, you are required to find
the items equivalent to those given in Chinese in the table below. Then you should
put the corresponding letters in the brackets on the Answer Sheet, numbered 51
through 55.
A) initial capital
B) frozen capital
O) fixed assets
D) real estate
E) circulating capital, working capital
F) allocation of funds
G) contribution of funds
H) working capital fund
I) reserve fund
J) buffer fund
K) self —financing
L) travellers cheque
M) ready money

N) ready money business, no credit given



O) exchange rate
P) liquid assets
Example: (C) & 5E ¥ /™ (O ®BKES
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54. ( ) REXG AKX C ) W

55. ( ) BELAZH «C ) HE
Task 5

Directions: There is an introduction in this task. A fter reading it, you are required to com-
plete the statements that follow the questions asked (No. 56 through No. 60).
You should write your answer to each question in several words on the Answer
Sheet correspondingly.

Taxes are usually defined as being progressive or regressive. A progressive tax is a tax
that becomes higher as a person’s income increases. A'good example of a progressive is the
federal income tax. ‘In 1980, a single person who earned $ 2,300 or less paid no federal ta-
xes. A single person who earned $ 10,000 paid a federal tax of nearly $ 1,400 or'14 percent
of his total income. Should that person have earned $ 100,000, his federal taxes would have
amounted to more than $50,000,0r is 50 percernt of his income. The guiding principle of a
progressive tax is that everyone should be taxed according to his ability to pay.

Regressive taxes tax rich and poor equally. An example of a tegressive tax is the gaso-
line tax. The person who makes $ 30,000 a year and the person who makes $ 7,000 a year
pay the same tax gasoline despite great difference in their incomes. Most governments have
settled on a mixture of progressive and regressive taxes. This mixture enables governments
to collect as much revenue as possible through the most practical, if not the fairest means.

56. According to the passage, what is a good example of a progressive tax.

ke : et

57. Why many rich people are opposed to progressive taxes?

58. What is the guiding principle of a progressive tax?

59. As it is used in the second paragraph of the passage, what does the word “revenue”

mean?

60. What is the purpose of the passage?




Part [V Translation

from English to Chinese (15 minutes)

Directions: This part, numbered 61 to 65, is to test your ability to translate English into

61.

62.

63.

64.

65.

Chinese. Each of the four sentences (No. 61 to No. 64) is followed by four
choices of suggested translation marked A), B), C) and D). make the best choice
and write the corresponding letter on the Answer Sheet. Write your translation
of the paragraph (No. 65) inthe corresponding space on the Translation/Com-
position Sheet.

This may sound like a dumb question, but I'd like to know how to write an invitation

card.

A)JXTEE%A@%%B‘JIEJ@ HRERER T, ERZELTE?

BXIERBE—-NMARER L, BEREREHA—T . BEFEALE

C XU RMRE— A i B 5, AR ERBHFHILA—T, %ﬁlﬁf&é\

D)X o] fE B MRl 1 R B, HRE R AR — T, BREREA

I shall not have time for dessert but perhaps you could bring a black coffee before I finish

the main course.

A EEHRZ AR E A E, Kﬁ%ﬁﬁxi%&ﬁfdxﬁll«J\%?ﬁ%ﬂ(ﬁmﬂF

B) B EIZE A T » A5 E R 5E E3RLARTIR AT BE S 48 TR AR B ek,

O BAE R H A, A 7ERIZ5E £ 3% ARGt VPR 77 LA 24 3R AR 15 ok

DY R Z BT R WA B 8 , B R R 02 58 F MRN8 R A0 Bamnk

I had a meeting last night, and I didn't get home until the small hours of the morning.

MEBREF&, —ERER, S XEEAE %,

BHEBRAEAS, ~HISXE LHEEZR.

ORERFAS, SXELBBEABEK.

DEEBREAL, TEERABR.

We all know how the size of sums of money appears to vary in a remarkable way accord-

ing as they are being paid in or paid out.

A)RETRAS, MR AT R R BB B S HARK.

BYRATERAE , MR AT RN R S BB ATARE.

O BAVEHE , BRFT R R EREAL BB ARRHA.

DYARFT A, R AT R R B R BB AR,

If you are not satisfied with any aspect of the service we provide or feel you have been

treated unfairly, you may call the Branch office. They will handle the matter. If you are

still not satisfied and wish to make formal complain, you should contact the Head office.

The contact details are listed on the back cover of this handbook.

10 -



